
1.13 1)
(

f ◦ g
)

(x) = f
(

g(x)
)

= f(x− 2) = 3 (x− 2) = 3 x− 6

2)
(

g ◦ f
)

(x) = g
(

f(x)
)

= g(3 x) = 3 x− 2

3)
(

f ◦ f
)

(x) = f
(

f(x)
)

= f(3 x) = 3 · 3 x = 9 x

4)
(

f ◦ g ◦ h
)

(x) = f
(

g
(

h(x)
)

)

= f
(

g(2 x − 3)
)

= f
(

(2 x − 3) − 2
)

=

f(2 x− 5) = 3 (2 x− 5) = 6 x− 15

5)
(

g◦f ◦h
)

(x) = g
(

f
(

h(x)
)

)

= g
(

f(2 x−3)
)

= g
(

3 (2 x−3)
)

= g(6 x−9) =

(6 x− 9)− 2 = 6 x− 11

6)
(

h ◦ g ◦ h
)

(x) = h
(

g
(

h(x)
)

)

= h
(

g(2 x − 3)
)

= h
(

(2 x − 3) − 2
)

=

h(2 x− 5) = 2 (2 x− 5)− 3 = 4 x− 13

Analyse : généralités sur les fonctions Corrigé 1.13


